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//1le cylindre extérieur

6 Fldifference() {
7

cylinder(h=10,r=59,3$fn=100);
cylinder(h=10,r=48,3fn=100);}

//1a base

12 F]difference() {

13 | cylinder(h=2,r=55,3%fn=100);
14 | cylinder(h=2,r=48,3fn=100);}
15 +
16 | //les axes
17 | translate( [-1, -50, 4]) { cube(size = [2,100,5]);};
18 | translate( [-50, -1, 4]) { cube(size = [100,2,5]);};
19|}
20
21+
22 | //trou pour la ficelle
23 | translate( [0, @, 3]) { rotate(a=9%0, v = [@, 1, @]) { cylinder(h=60,r=1);}; };
24
25 | //graduations en surface
26 | translate( [-1, -50, 9]) { cube(size = [2,190,2]);};
27 | translate( [-50, -1, 9]) { cube(size = [100,2,2]);};
28 | rotate(a=30@, v = [0, @, 1]) {translate( [-1, -5@, 9]1) { cube(size = [2,100,2]);}:};
29 | rotate(a=-30, v = [0, @, 1]) {translate( [-1, -50, 9]) { cube(size = [2,100,2]);}:}; e o
30 | rotate(a=6@, v = [0, @, 1]) {translate( [-1, -5@, 9]) { cube(size = [2,100,2]);}:}; e »
31 | rotate(a=-60, v = [0, @, 1]) {translate( [-1, -50, 9]) { cube(size = [2,100,2]);}:}; » @ 'Q Q Q O @ ® @ G a $
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CGAL cache size in bytes: 3000888
Total rendering time: 0:00:46.928
Top level object is a 3D object:
Simple: yes Group
Vertices: 747
Halfedges: 2270
Edges: 1135
Halffacets: 762
Facets: 381
Volumes: 2
Rendering finished.
Viewport: translate = [ 0.00 0.00 0.00 ], rotate = [ 55.00 0.00 25.00 ], distance = 237.09, fov = 22.50 (582x520) OpenSCAD 2021.01



